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O OO0 INIT.ORAL OO PRE_PAGE_SGA
PRE PAGE SGA=YES2. 00O UOOUOOUOOOOOO SELECT
GETS,WAITSFROM V$ROLLSTAT.GETSO O OO OO OO
WAITSO OO OUOOUOOoOUOoUOoOOd OO0 GETSWAITSO O
Do02%0 0000000000 oooouo
OJO0oO0ooddMMEDIATE) DO OMWAITMHOO OOO0O
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CONNECTION=(IMMEDIATE_MISSES/(IMMEDIATE_GETS
IMMEDIATE_MISSES))*100 00 O0doO=>0000000 O
DO0000000000INIT.ORAL
0 LOG_SMALL ENTRY MAX SIZED OO OUOooooon
O O INIT.ORAL O LOG_SIMULATANOUS _COPIESO U O O
OO0O0O0OOOPTIMALLD OO OO OO O OPTIMALSELECT
CLASS,COUNT FROM V$WAITSTAT WHERE UPPER(CLASS)
IN (* SYSTEM UNDO HEADER)' ;' SYSTEM UNDO BLOCK
' ,* UNDOHEADER’ ;[ UNDOBLOCK’ ).SELECT
SUM(VALUE) FROM V$SYSSTAT WHERE UPPER(NAME) IN
(‘ DBBLOCKGETS , CONSISTENTGETS ).0Oo0O0O0O
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0 SHARED POOL_SIZED 0 O SELECT GETMISSES,GETS
FROM V$ROWCACHE. 0 O RELOADSPINSO O 00 0 0 10%0
0 INIT.ORAD 0 SHARED POOL SIZED OO 400000
00000 OO0INIT.ORAD OOPEN_CURSORSO 00 OO
000000000000 OINIT.ORAD OO
SESSION_CACHED_CURSORS=1005. SELECT
SUM(GETS),SUM(GETMISSES) FROM V$ROWCACHE. [
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1 SHARED POLL_SIZE[] DB_BLOCK_BUFFERS 0 [
6.SELECT NAME,VALUE FROM V$SYSSTAT WHERE
UPPER(NAME) IN (* SORTS(MEMORY)' ,’ SORTS(DISK)
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CHECKPOINT PROCESS=TRUE
LOG_CHECKPOINT_INTERVAL=10000
LOG_CHECKPOINT TIMEOUT=18008. 0 0 0 0 (MTS)0 O
0 1>MTS SERVICED O DD OOSQU*NETO 000000
0000SIDO0O0D0 2>MTS DISPATCHERS 00 0 00 0
00 3>MTS_ MAX_DISPATCHERS 0 00000 D00O 0 4>
MTS SERCERSO 000000 DD 5> MTS MAX_SERVERS
0000000000 6>MTS_LISTENTER_ADDRESS [0 [
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O INIT.ORAL mts_listener_address=

' (ADDRESS=(PROTOCOL=TCP)(KEY=MYDB))’
mts_dispatchers=" tcp,10’ mts_dispatchers=" ipx,2’
mts_max_dispatchers=10 mts_max_servers=10 100Test I [J [J [J
Jo00o00odododododododd www.100test.com



